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1. ml rkieku dks ifjHkkf”kr dhft, ftl ij 

,d rjy Bksl esa cny tkrk gS % 

 
1. Define the temperature at which liquid 

turns into solid : 

(A) DoFkukad  (A) Boiling point 

(B) xyukad  (B)  Melting point 

(C) ok”ihdj.k rkieku  (C)  Evaporation temperature 

(D) fgekad  (D)  Freezing point 

2. eD[ku dks Lokfn”V cukus okyk ;kSfxd gS % 
 

2. Flavouring compound for butter is : 

(A) ySfDVd vEy  (A) Lactic acid 

(B) MkbZ,lhfVy  (B)  Diacetyl 

(C) ,lhfVy feFkkby dkchZukWy  (C)  Acetyl methyl carbinol 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. nw/k dh izkd`frd vEyrk fdlds dkj.k gksrh  

gS \ 

 
3. Natural acidity of milk is due to : 

(A) ,flM QkWLQsV~l  (A) Acid phosphates 

(B) dslhu  (B)  Casein 

(C) lkbVªsV  (C)  Citrates 

(D) mi;qZDr lHkh  (D)  All of the above 

4. ;fn nw/k esa ikuh dh feykoV dh tkrh gS] rks 

nw/k dk fgekad % 

 
4. If milk is adulterated with water (H2O), 

then freezing point of milk : 

(A) c<+rk gS  (A) Increases 

(B) ?kVrk gS  (B)  Decreases 

(C) u rks c<+rk gS u gh ?kVrk gS   (C)  Neither increases nor decreases 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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5. oSD;we ik’pqjhdj.k dk mís’; gS % 
 

5. The purpose of vacuum pasteurization  

is : 

(A) ,Utkbe dks fuf”Ø; djuk  (A) To inactivate enzymes 

(B) vokafNr xa/k dks nwj djuk  (B)  To remove undesirable odours 

(C) cSDVhfj;k dks ekjuk  (C)  To kill bacteria 

(D) mi;qZDr lHkh  (D)  All of the above 

6. fdf.or nw/k mRiknksa ds mnkgj.k gSa % 
 

6. The examples of fermented milk product 

are : 

(A) ngh  (A) Dahi 

(B) feLVh ngh  (B)  Misti Dahi 

(C) Jh[k.M  (C)  Shrikhand 

(D) mi;qZDr lHkh  (D)  All of the above 

7. Hkkjr esa dkuwuh ekud ds vuqlkj VksUM nw/k esa 

olk ,oa ,l- ,u- ,Q- dk izfr’kr gksrk gS % 

 
7. The legal standards for fat and SNF 

percentage of toned milk in India is : 

(A) 3.0 vkSj 8.5  (A) 3.0 and 8.5 

(B)  1.5 vkSj 9.0  (B)  1.5 and 9.0 

(C)  4.0 vkSj 8.5  (C)  4.0 and 8.5 

(D)  4.5 vkSj 8.5  (D)  4.5 and 8.5 

8. Hkkjr esa dkuwuh ekud ds vuqlkj eD[ku esa 

olk vkSj ikuh dk izfr’kr gksrk gS % 

 
8. The legal standards of fat and water 

percentage of butter in India is : 

(A) 70% vkSj 30%  (A) 70% and 30% 

(B)  80% vkSj 20%  (B)  80% and 20% 

(C)  90% vkSj 10%  (C)  90% and 10% 

(D)  50% vkSj 50%  (D)  50% and 50% 
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9. lqxfU/kr nw/k esa feykbZ tkus okyh lqxj dk 

izfr’kr gS % 

 
9. Percentage of sugar added to flavoured 

milk is : 

(A) 10-11  (A) 10-11 

(B)  7-9  (B)  7-9 

(C)  5-6  (C)  5-6 

(D)  12-13  (D)  12-13 

10. lqxfU/kr nw/k esa vkerkSj ij bLrseky gksus okyk 

LVsfcykbtj gS % 

 
10. The commonly used stabilizer in 

flavoured milk is : 

(A) lksfM;e ,ythusV  (A) Sodium alginate 

(B) lkbfVªd ,flM  (B)  Citric acid 

(C) NaOH  (C)  NaOH 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

11. lh- vks- ch- ijh{k.k nw/k dh mi;qDrrk dks 

bafxr djrk gS % 

 
11. COB test indicates the suitability of milk 

for : 

(A) DysjhfQds’ku ds fy,  (A) Clarification 

(B) fd.ou ds fy,  (B)  Fermentation 

(C) ik’pqjhdj.k ds fy,  (C)  Pasteurization 

(D) LVsjhykbts’ku ds fy,  (D)  Sterilization 
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12. xjcj vEy cuk gksrk gS % 
 

12. Gerber acid is made from : 

(A) lY¶;wfjd vEy ls  (A) Sulphuric acid 

(B) QkWLQksfjd vEy ls  (B)  Phosphoric acid 

(C) gkbMªksDyksfjd vEy ls  (C)  Hydrochloric acid 

(D) ukbfVªd vEy ls  (D)  Nitric acid 

13. vkWijs’ku ¶yM Qsl izFke dc ‘kq: gqvk \ 
 

13. Operation Flood Phase I was started at : 

(A) tqykbZ 1972  (A) July 1972 

(B) tqykbZ 1970  (B)  July 1970 

(C) twu 1970  (C)  June 1970 

(D) tqykbZ 1976  (D)  July 1976 

14. ikuh dk vkisf{kd ?kuRo fdruk gksrk gS \ 
 

14. What is specific gravity of water ? 

(A) 0.70  (A) 0.70 

(B)  0.98  (B)  0.98 

(C)  1.00  (C)  1.00 

(D)  1.82  (D)  1.82 

15. i`FkDdj.k ds fy;s vkn’kZ rkieku gS % 
 

15. The ideal temperature for separation is : 

(A) 35-45°C  (A) 35-45°C 

(B) 50-55°C  (B) 50-55°C 

(C) 45-50°C  (C) 45-50°C 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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16. b.Vjus’kuy Ms;jh QsMjs’ku (IDF) fe’ku  

---------------------------- 
dks c<+kok nsrk gSA 

 
16. The International Dairy Federation (IDF) 

mission is to promote ................ . 

(A) oSKkfud] lkaLd`frd ,oa vkfFkZd izxfr  (A) Scientific, Cultural and Economic 

progress 

(B) d`f”k] rduhdh ,oa vkfFkZd izxfr  (B)  Agriculture, Technical and 

Economic progress 

(C) rduhdh] oSKkfud ,oa vkS|ksfxd izxfr  (C)  Technical, Scientific and Industrial 

progress 

(D) oSKkfud] rduhdh ,oa vkfFkZd izxfr  (D)  Scientific, Technical and Economic 

progress 

17. HTST fof/k esa ghfVax lsD’ku esa ncko gksrk gS % 
 

17. The pressure in heating section of HTST 

system is : 

(A) 14 psi  (A) 14 psi 

(B)  12-13 psi  (B)  12-13 psi 

(C)  15 psi  (C)  15 psi 

(D)  2 psi  (D)  2 psi 

18. ?kh esa olk izfr’kr gksuk pkfg, % 
 

18. Fat percentage in Ghee should be : 

(A) 80 izfr’kr  (A) 80 percent 

(B)  98 izfr’kr  (B)  98 percent 

(C)  92 izfr’kr  (C)  92 percent 

(D)  99 izfr’kr  (D)  99 percent 
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19. dPps nw/k dh fMyhojh ds ckn fuEufyf[kr esa 

ls dkSu&lh izfØ;k dk ikyu ugha fd;k tkrk 

gS \ 

 
19. Which of the following processes is not 

followed after the delivery of the raw 

milk ? 

(A) nw/k dk ik’pqjhdj.k  (A) Pasteurization of milk 

(B) nw/k dh lQkbZ  (B)  Cleaning of milk 

(C) nw/k dk i`FkDdj.k  (C)  Separation of milk 

(D) nw/k dh iSfdax  (D)  Packaging of milk 

20. fuEufyf[kr esa ls fdlesa 65&85 izfr’kr nw/k 

olk gksrk gS \ 

 
20. Which among the following contains  

65-85 percent milk fat ? 

(A) Vscy Øhe  (A) Table cream 

(B) IykfLVd Øhe  (B)  Plastic cream 

(C) Hkkjh Øhe  (C)  Heavy cream 

(D) fOgfiax Øhe  (D)  Whipping cream 

21. nw/k esa ik;k tkus okyk ySDVkst D;k gS \ 
 

21. What is Lactose found in milk ? 

(A) [kfut  (A) Mineral 

(B) izksVhu  (B)  Protein 

(C) olk  (C)  Fat 

(D) dkcksZgkbMªsV~l  (D)  Carbohydrates 

22. vkblØhe esa olk dk dk;Z gS % 
 

22. Function of fat in ice-cream is to : 

(A) jax nsuk  (A) Impart color 

(B) eykbZnkj Lokn fodflr djuk  (B)  Develop creamy flavor 

(C) lw{ethoksa ds geys dks de djuk  (C)  Reduce microbial attack 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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23. fuEufyf[kr esa ls dkSu&lk nqX/k Bksl ds :i esa 

‘kkfey ugha gS \ 

 
23. Which of the following is not included as 

milk solids ? 

(A) olk  (A) Fat 

(B) ikuh  (B)  Water 

(C) izksVhu  (C)  Protein 

(D) dkcksZgkbMªsV  (D)  Carbohydrate 

24. nw/k esa fdl rRo dh deh gksrh gS \ 
 

24. Which element is deficient in milk ? 

(A) yksgk  (A) Iron 

(B) dSfY’k;e  (B)  Calcium 

(C) QkWLQksjl  (C)  Phosphorus 

(D) ftad  (D)  Zinc 

25. iuhj esa ueh dh ek=k fuEufyf[kr ls de ugha 

gksuh pkfg, % 

 
25. The moisture content of paneer is not less 

than the following : 

(A) 55%  (A) 55% 

(B)  65%  (B)  65% 

(C)  60%  (C)  60% 

(D)  70%  (D)  70% 

26. nw/k lzkfor djus okyk Ård gS % 
 

26. Milk secreting tissue is : 

(A) Fku uyh  (A) Teat canal 

(B) nqX/k f’kjk  (B)  Milk vein 

(C) yksC;wy  (C)  Lobule 

(D) ,fYo;ksykbZ  (D)  Alveoli 
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27. nw/k mRiknu dk j[k&j[kko ds fy;s ftEesnkj 

gkWeksZu gS % 

 
27. Hormone responsible for maintenance of 

milk production : 

(A) vkWDlhVksflu  (A) Oxytocin 

(B) izksySfDVu  (B)  Prolactin 

(C) ,Q- ,l- ,p-  (C)  FSH 

(D) ,LVªkstu  (D)  Estrogen 

28. C;kus ds ckn xk; dk igyk lzko dgykrk gS % 
 

28. First secretion of cow after calving is 

called : 

(A) igyk nw/k  (A) Fore milk 

(B) nqX/k lhje  (B)  Milk serum 

(C) [khl  (C)  Colostrum 

(D) dslhu  (D)  Casein 

29. ?kh esa ouLifr olk ds vifeJ.k dk irk 

yxkus ds fy, dkSu&lk ijh{k.k djrs gSa \ 

 
29. Which test is used to find out the 

adulteration of vegetable fat in Ghee ? 

(A) QkbVksLVsjkWy ijh{k.k  (A) Phytosterol test 

(B) dkcksZfyd ,flM ijh{k.k  (B)  Carbolic acid test 

(C) lksMk ,’k ijh{k.k  (C)  Soda ash test 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

30. Mcy VksUM nw/k esa olk izfr’kr gS % 
 

30. The fat percent in double toned milk is : 

(A) 0.5  (A) 0.5 

(B)  1.5  (B)  1.5 

(C)  2.5  (C)  2.5 

(D)  3.5  (D)  3.5 
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31. fuEufyf[kr esa ls dkSu&lk ,d ifjj{kd gS \ 
 

31. Which of the following is a preservative ? 

(A) lijsVk nw/k  (A) Separated milk 

(B) LVkpZ  (B)  Starch 

(C) nw/k ikmMj  (C)  Milk powder 

(D) gkbMªkstu ijvkWDlkbM  (D)  Hydrogen peroxide 

32. nw/k esa vifeJ.k D;ksa fd;k tkrk gS \ 
 

32. Why are adulterants added in milk ? 

(A) ‘ksYQ ykbQ c<+kus ds fy,  (A) To increase shelf life 

(B) nw/k dh ek=k c<+kus ds fy,  (B)  To increase quantity of milk 

(C) ?kfV;k xq.kksa dk nw/k vPNs nke ij cspus 

ds fy, 

 (C)  To sell poor quality at the same 

price 

(D) mi;qZDr lHkh  (D)  All of the above 

33. Ms;jh lgdkjh lfefr dk xBu djrs  

gSa % 

 
33. Dairy Co-operative Society are formed  

at : 

(A) CykWd Lrj ij  (A) Block level 

(B) xzke Lrj ij  (B)  Village level 

(C) ftyk Lrj ij  (C)  District level 

(D) izns’k Lrj ij  (D)  State level 
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34. vifeJ.k dks Kkr djus dh lkekU; fof/k  

gS % 

 
34. Method for detection of common 

adulterants is : 

(A) n`’; ijh{k.k  (A) Visual test 

(B) jklk;fud ijh{k.k  (B)  Chemical test 

(C) HkkSfrd ijh{k.k  (C)  Physical test 

(D) mi;qZDr lHkh  (D)  All of the above 

35. nw/k esa olk dk jax fuHkZj djrk gS % 
 

35. Colour of fat in milk depends on : 

(A) ikuh ij  (A) Water 

(B) izksVhu ij  (B)  Protein 

(C) dSjksVhu ij  (C)  Carotene 

(D) ySDVkst ij  (D)  Lactose 

36. izknsf’kd lgdkjh Ms;jh la?k dgk¡ ij fLFkr  

gS \ 

 
36. Pradeshik Co-operative Dairy Federation 

is situated at : 

(A) dkuiqj  (A) Kanpur 

(B) esjB  (B)  Meerut 

(C) djuky  (C)  Karnal 

(D) y[kuÅ  (D)  Lucknow 

37. UHT mipkj esa iz;qDr rkieku gksrk gS % 
 

37. Temperature used in UHT treatment is : 

(A) 110°C  (A) 110°C 

(B)  120°C  (B)  120°C 

(C)  145°C  (C)  145°C 

(D)  160°C  (D)  160°C 
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38. fo’o nqX/k fnol dc euk;k tkrk gS \ 
 

38. When is World Milk Day celebrated ? 

(A) 1 ebZ  (A) 1 May 

(B) 1 twu  (B)  1 June 

(C) 5 twu  (C)  5 June 

(D) 7 twu  (D)  7 June 

39. vPNh xq.koŸkk dk [kksvk izkIr gksrk gS % 
 

39. Good quality Khoa is obtained from : 

(A) xk; ds nw/k ls  (A) Cow milk 

(B) HkSal ds nw/k ls  (B)  Buffalo milk 

(C) Å¡V ds nw/k ls  (C)  Camel milk 

(D) HksM+ ds nw/k ls  (D)  Sheep milk 

40. Øhe dk miksRikn gS % 
 

40. Byproduct of cream is : 

(A) nqX/k Ogs  (A) Milk whey 

(B) NkN  (B)  Butter milk 

(C) lijsVk nw/k  (C)  Separated milk 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

41. MkW- oxhZt dqfjZ;u dk lEcU/k fdlls gS \ 
 

41. Dr. Varghese Kurien is related to : 

(A) ‘osr Økafr ds tud  (A) Father of white revolution 

(B) Hkkjr dk nqX/k iq#”k  (B)  Milkman of India 

(C) ,u- Mh- Mh- ch- ds izFke v/;{k  (C)  First chairman of NDDB 

(D) mi;qZDr lHkh  (D)  All of the above 
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42. ?kh esa dkSu&lk foVkfeu de ik;k tkrk gS \ 
 

42. Which vitamin is less found in Ghee ? 

(A) A  (A) A 

(B)  B  (B)  B 

(C)  C  (C)  C 

(D)  D  (D)  D 

43. iuhj esa izksVhu dh ek=k fdruh gksrh gS \ 
 

43. How much protein is in cottage cheese ? 

(A) 17.5%  (A) 17.5% 

(B) 16.5%  (B) 16.5% 

(C) 12.5%  (C) 12.5% 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

44. vkblØhe esa jsrhyh cukoV dk nks”k fdlds 

dkj.k gksrk gS \ 

 
44. Sandy texture defect in ice-cream is due 

to : 

(A) mPp ySDVkst  (A) High Lactose 

(B) rkieku esa mrkj&p<+ko  (B)  Temperature fluctuation 

(C) yack HkaMkj.k  (C)  Long storage 

(D) mi;qZDr lHkh  (D)  All of the above 

45. fdl foVkfeu dk oSKkfud uke dksckykfeu  

gS \ 

 
45. Cobalamin is the scientific name of 

vitamin : 

(A) foVkfeu ch1  (A) Vitamin B1 

(B) foVkfeu lh  (B)  Vitamin C 

(C) foVkfeu ch12  (C)  Vitamin B12 

(D) foVkfeu bZ  (D)  Vitamin E 
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46. xk; ds nw/k esa dqy Bksl izfr’kr gS % 
 

46. Total Solids (T. S.) percentage in cow 

milk is : 

(A) 13.5%  (A) 13.5% 

(B)  13.0%  (B)  13.0% 

(C)  16.5%  (C)  16.5% 

(D)  16.0%  (D)  16.0% 

47. [kksvk esa jSfUlfMVh fdlds dkj.k fodflr 

gksrh gS \ 

 
47. Rancidity in Khoa develops due to : 

(A) ykbist }kjk olk gkbMªksfyfll  (A) Fat hydrolysis by lipase 

(B) T;knk Å”ek  (B)  Overheating 

(C) izksVhu VwVuk  (C)  Protein breakdown 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

48. dejs ds rkieku ij [kksvk dh fu/kkuh vk;q  

gS % 

 
48. The shelf life of Khoa at room 

temperature is : 

(A) 2&3 fnu  (A) 2-3 days 

(B) 5&6 fnu  (B)  5-6 days 

(C) 6&8 fnu  (C)  6-8 days 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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49. xk; ds nw/k ls Nsuk mRikfnr gksrk gS % 
 

49. The yield of Chhena from cow milk is : 

(A) 10-12%  (A) 10-12% 

(B)  13-15%  (B)  13-15% 

(C)  15-17%  (C)  15-17% 

(D)  18-20%  (D)  18-20% 

50. ngh ds ¶ysoj ds fy, ftEesnkj Lokn nsus 

okyk ;kSfxd gS % 

 
50. The flavoring compound responsible for 

Dahi flavor is : 

(A) MkbZ,lhfVy  (A) Diacetyl 

(B) ,lhVSfYMgkbM  (B)  Acetaldehyde 

(C) ySfDVd vEy  (C)  Lactic acid 

(D) ,lhfVd vEy  (D)  Acetic acid 

51. vkblØhe Ýhtj esa iz;qDr gksus okyk jsfÝtjsaV 

gS % 

 
51. The refrigerant used in ice-cream freezer 

is : 

(A) ghfy;e  (A) Helium 

(B) dkcZu MkbvkWDlkbM  (B)  Carbon dioxide 

(C) veksfu;k  (C)  Ammonia 

(D) ukbVªkstu  (D)  Nitrogen 
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52. vYVªkfQYVªs’ku izfØ;k fdlds mRiknu ds fy, 

lcls mi;qDr gS \ 

 
52. Ultrafiltration process is most suitable for 

the production of : 

(A) [kksvk  (A) Khoa 

(B) Nsuk  (B)  Chhena 

(C) jcM+h  (C)  Rabri 

(D) clq.Mh  (D)  Basundi 

53. ?kh dh xq.koŸkk fuHkZj djrh gS % 
 

53. The quality of Ghee depends upon : 

(A) nw/k ds izdkj ij  (A) Type of milk 

(B) ekSle vkSj {ks= ij  (B)  Season and region 

(C) i’kqvksa ds pkjs ij  (C)  Feed of animals 

(D) mi;qZDr lHkh  (D)  All of the above 

54. ?kh esa nkus dk vkdkj fuHkZj djrk  

gS % 

 
54. The grain size in Ghee depends on : 

(A) BaMk djus dh nj ij  (A) Rate of cooling 

(B) xeZ ,oa BaMs mipkj ij  (B)  Heating and cooling treatment 

(C) olh; vEy esd vi ij  (C)  Fatty acid make up 

(D) mi;qZDr lHkh  (D)  All of the above 
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55. ?kh cuk;k tk ldrk gS % 
 

55. Ghee can be prepared from : 

(A) Øhe ls  (A) Cream 

(B) ids gq, Øhe ls  (B)  Ripened cream 

(C) eD[ku ls  (C)  Butter 

(D) mi;qZDr lHkh  (D)  All of the above 

56. lw[kk Øhe ikmMj vfr laosnu’khy gS % 
 

56. Dried cream powder is susceptible  

for : 

(A) gkbMªksfyfll ds fy,  (A) Hydrolysis 

(B) vkWDlhMs’ku ds fy,  (B)  Oxidation 

(C) izksfV;ksfyfll ds fy,  (C)  Proteolysis 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

57. iuhj le`) lzksr ugha gS % 
 

57. Cheese is not a rich source of : 

(A) foVkfeu , dk  (A) Vitamin A 

(B) jkbcks¶ysfou dk  (B)  Riboflavin 

(C) foVkfeu lh dk  (C)  Vitamin C 

(D) QksysV dk  (D)  Folate 
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58. iuhj fuEufyf[kr izfØ;k }kjk cuk;k tkrk  

gS % 

 
58. Cheese is made by the following  

process : 

(A) lkanz.k  (A) Concentration 

(B) fMgkbMªs’ku  (B)  Dehydration 

(C) dkWxqys’ku  (C)  Coagulation 

(D) lsijs’ku  (D)  Separation 

59. lekaxhdj.k vko’;d ugha gS % 
 

59. Homogenization is not necessary  

for : 

(A) flaxy Øhe ds fy,  (A) Single cream 

(B) dkWQh Øhe ds fy,  (B)  Coffee cream 

(C) Mcy Øhe ds fy,  (C)  Double cream 

(D) LVsjhykbTM Øhe ds fy,  (D)  Sterilized cream 

60. nw/k ds fMCcs dk fuekZ.k fd;k tkrk gS % 
 

60. Milk cans are constructed of : 

(A) ,Y;wehfu;e ls  (A) Aluminium 

(B) LVsuysl LVhy ls  (B)  Stainless steel 

(C) IykfLVd ls  (C)  Plastic 

(D) mi;qZDr lHkh  (D)  All of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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